Container

o ickoff Kit - Checkli

Item Information

AndyMark Drive
Base Kit

10-32 Kit

Item: SHCS, 10-32 x 1/2 in. length

Part #:
Supplier: AndyMark

am-1002 or am-1178

Where to get more: www.andymark.com

AndyMark Drive
Base Kit

10-32 Kit

Item: Nut, nylock, #10-32

Part #:
Supplier: AndyMark

am-1042 or am-1211

Where to get more: www.andymark.com

2 @

AndyMark Drive
Base Kit

10-32 Kit B

Item: SHCS, 10-32 x 1/2 in. length

Part #:
Supplier: AndyMark

am-1002 or am-1178

Where to get more: www.andymark.com

AndyMark Drive
Base Kit

10-32 Kit B

Iltem: Nut, nylock, #10-32

Part #:
Supplier: AndyMark

am-1042 or am-1211

Where to get more: www.andymark.com

AndyMark Drive

Item: Screw, Thread Rolling, 1/4-20 x 3/4 in.

; length
Base Kit Part #: am-1310 or am-1321
: 20
AM14U2 Supplier: AndyMark
Chassis Kit 1 |\ywhere to get more: www.andymark.com
. Item: Nut, 3/8-16, Nylock
AndyMark Drive
Base Kit Part # am-1054 4
AM14U2 Supplier: AndyMark
Chassis Kit 2

Where to get more: www.andymark.com

AndyMark Drive
Base Kit

AM14U2
Chassis Kit 2

ltem: Bolt, 3/8-16 x 4 1/4 in., HHS

Part#: am-1297
Supplier: AndyMark

Where to get more: www.andymark.com

Rev 12/16/201

Page 1




o ickoff Kit - Checkli

Container Item Information Qty Photo
) Item: Spacer, Hex, 1/2 in. ID x 1.124 in. OD x
AndyMark Drive 0.583 in. length 0.570"L
Base Kit Part#: am-1305 5 ~
AM14U2 Supplier: AndyMark \ ® Oy
Chassis Kit 3 \yhere to get more: www.andymark.com
) Item: Spacer, 0.382 in. ID x 0.518 in. OD x
AndyMark Drive 0.280 in. length
Base Kit Part #: am_1306 4
AM14U2 Supplier: AndyMark \
Chassis Kit 3 |\here to get more: www.andymark.com
. [tem: Spacer, 0.380 in. ID x 3/4 in. OD x 0.850
AndyMark Drive in. length
Base Kit Part # am-1307 4
AM14U2 Supplier: AndyMark -
Chassis Kit 3 \yhere to get more: www.andymark.com
) ltem: Bearing, 161477
AndyMark Drive
Base Kit Part # am-0209 3
Bearing Kit | Supplier: AndyMark
Where to get more: www.andymark.com
. Item: Bearing, FR8ZZ, HexHD
AndyMark Drive
Base Kit Part#: am-2986 2
Bearing Kit | Supplier: AndyMark
Where to get more: www.andymark.com
. [tem: Wheel, 4 in., HiGrip
AndyMark Drive
Base Kit Part # am-2256 5
N/A Supplier: AndyMark
Where to get more: www.andymark.com
) Item: Hub, 500 EX .
AndyMark Drive _
Base Kit Part#: am-2568 ) f\\
N/A Supplier: AndyMark : &

Where to get more: www.andymark.com

Rev 12/16/2014 Page 2




o ickoff Kit - Checkli

Container Item Information Qty Photo
. Item: 500 Churro, 3 3/8 in. length
AndyMark Drive
N/A Supplier: AndyMark
Where to get more: www.andymark.com
. Item: Outer Plate
AndyMark Drive
Base Kit Part# am-2951 ,
N/A Supplier: AndyMark
Where to get more: www.andymark.com
. Item: Inner Plate
AndyMark Drive
Base Kit Part #: am-2952 )
N/A Supplier: AndyMark
Where to get more: www.andymark.com
. Item: End Plate
AndyMark Drive
Base Kit Part# am-2953 )
N/A Supplier: AndyMark
Where to get more: www.andymark.com
. Item: Bracket
AndyMark Drive
Base Kit Part#: am-2954 .
N/A Supplier: AndyMark
Where to get more: www.andymark.com
) Item: 500 Churro, 24 1/4 in.
AndyMark Drive
Base Kit Part #: am-2974 )
N/A Supplier: AndyMark
Where to get more: www.andymark.com
. Item: AM14U2 User Guide
AndyMark Drive W AnyMark
Base Kit : s it
Part#: N/A 1 S o
N/A

Supplier: AndyMark
Where to get more: www.andymark.com

<

Rev 12/16/2014

Page 3




o ickoff Kit - Checkli

Container Item Information Qty Photo
) ltem: Belt, HTD, 15mm wide, 131-Tooth
AndyMark Drive
Base Kit Part#  655-5M-15 or am-2571 A
N/A Supplier: Gates Corporation
Where to get more:
) Item: Belt, HTD, 15mm wide, 170-Tooth
AndyMark Drive
Base Kit Part#  850-5M-15 or am-2570 A
N/A Supplier: Gates Corporation
Where to get more:
. [tem: Pulley Half, 42-tooth HTD Plastic
AndyMark Drive
Base Kit Part# am-2234-half 6
Pulley Kit Supplier: AndyMark

Where to get more: www.andymark.com

AndyMark Drive
Base Kit

Screw Kit

Item: Screw, Thread Forming, #10-24 x 1 1/4
in. length
Part#: am-1266 or am-1278

Supplier: AndyMark
Where to get more: www.andymark.com

. Item: Hex Shaft, Small
AndyMark Drive (L/TB kit x 2 TB kits = 2 total)
Base Kit Part # am-0152 5 ~
Toughbox Supplier: AndyMark \
Mini Kit Where to get more: www.andymark.com
. ltem: Housing
AndyMark Drive (L/TB kit x 2 TB kits = 2 total)
Base Kit Part # am-0650 5
Toughbox Supplier: AndyMark
Mini Kit Where to get more: www.andymark.com
) Item: Hex Shaft, Output
AndyMark Drive (L/TB kit x 2 TB kits = 2 total)
Base Kit Part# am-2566 5
Toughbox Supplier: AndyMark —
Mini Kit

Where to get more: www.andymark.com

Rev 12/16/2014

Page 4




Container

o ickoff Kit - Checkli

Item Information

Qty Photo

AndyMark Drive
Base Kit

Toughbox
Mini Kit 1

Item: Gear, 14-tooth, 8mm bore, 2mm keyway

(2/TB kit x 2 TB kits = 4 total)
Part #: am-0034

Supplier: AndyMark
Where to get more: www.andymark.com

AndyMark Drive

ltem: Gear, 50-tooth, 3/8 in. Hex
(1/TB kit x 2 TB Kits = 2 total)

Base Kit Part# am-0149 , -
Toughbox Supplier: AndyMark W
Mini Kit 1 Where to get more: www.andymark.com .
) Item: Gear, 19-tooth, 3/8 in. Hex
AndyMark Drive (L/TB kit x 2 TB kits = 2 total)
Base Kit Part # am-0176 5 ..'.ﬂ':
Toughbox Supplier: AndyMark W
Mini Kit 1 Where to get more: www.andymark.com
. Item: Gear, 45-tooth, 1/2 in. Hex
AndyMark Drive (1/TB kit x 2 TB kits = 2 total) Py
Base Kit Part# am-0179 , f ~ ’\
Toughbox Supplier: AndyMark S ¥ 4
Mini Kit 1 gy i

Where to get more: www.andymark.com

AndyMark Drive
Base Kit

Toughbox
Mini Kit 2

Item: Bearing, FR6ZZ
(1/TB kit x 2 TB kits = 2 total)
Part #: am-0028

Supplier: AndyMark
Where to get more: www.andymark.com

AndyMark Drive

Item: Bearing, R6ZZ, 3/8 in. ID, shielded
(2/TB kit x 2 TB kits = 4 total)

Base Kit Part # am-0516 4
Toughbox Supplier: AndyMark
Mini Kit 2 Where to get more: www.andymark.com
) ltem: Bearing, FR82Z, HexHD
AndyMark Drive (1/TB Kit x 2 TB Kits = 2 total)
Base Kit Part # am-2986 1
Toughbox Supplier: AndyMark
Mini Kit 2

Where to get more: www.andymark.com

Rev 12/16/2014

Page 5




o ickoff Kit - Checkli

Container Item Information Qty Photo
) ltem: Retaining Clip, 8mm
AndyMark Drive (2/TB kit x 2 TB kits = 4 total)
Base Kit Part # am-0033 4 n
Toughbox Supplier: AndyMark
Mini Kit 3 Where to get more: www.andymark.com
. Item: Washer, 5/16 in.
AndyMark Drive (4/TB kit x 2 TB kits = 8 total)
Base Kit Part # am-1009 or am-1219 8
Toughbox Supplier: AndyMark
Mini Kit 3 Where to get more: www.andymark.com
) Item: SHCS, #10-32 x 5/8 in. long, w/ patch
AndyMark Drive (4/TB kit x 2 TB kits = 8 total)
Base Kit Part#: am-1120 or am-1246 8 -
Toughbox Supplier: AndyMark \i,
Mini Kit 3 Where to get more: www.andymark.com
) Iltem: Machine Key, 2 x 2 x 10mm
AndyMark Drive (2/TB kit x 2 TB kits = 4 total)
Base Kit Part # am-1121
Toughbox Supplier: AndyMark 4 <
PP y
Mini Kit 3 Where to get more: www.andymark.com
. Item: E-Clip Ring, 1/2 in.
AndyMark Drive (L/TB kit x 2 TB kits = 2 total)
Base Kit Part# am-0206 ) n
Toughbox Supplier: AndyMark
Mini Kit 4 Where to get more: www.andymark.com
. ltem: Nut, nylock, #10-32
AndyMark Drive (4/TB kit x 2 TB kits = 8 total)
Base Kit Part#: am-1042 or am-1211 8 é%
Toughbox Supplier: AndyMark
Mini Kit 4 Where to get more: www.andymark.com
. Item: SHCS, 10-32 x 3/4 in. length
AndyMark Drive (4/TB kit x 2 TB kits = 8 total)
Base Kit Part # am-1047 or am-1280 g | — )
Toughbox Supplier: AndyMark D—
Mini Kit 4

Where to get more: www.andymark.com

Rev 12/16/2014

Page 6




o ickoff Kit - Checkli

Container Item Information Qty Photo
. Item: Grease Pack
AndyMark Drive (1/TB kit x 2 TB kits = 2 total)
Base Kit Part # am-2768 X o s,
Toughbox Supplier: AndyMark ‘
Mini Kit 4 Where to get more: www.andymark.com '

Rev 12/16/2014

Page 7




